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Geo-  REVIEW for TRANSFORMATIONS TEST — Chapter-9 --- - Name e — 1=l

date

“cabulary; define each of the following;

Pre-image — (10 i\.‘iﬂ( NGt
Image - (5il ny Agure : b
Isometry — b@ngﬁ‘v’mmaﬂ A Pff lﬂrmé}& = nﬂ(,’i.c}k,
Reflection — £{¢ 1 . _
Rotation = 4 ,¢p, iSomgn’? |
Translation — gL \
Dilation — hoatAvmahum st Chongls Sk
Transformation — mwenuat of (4 Shape .
Scale factor - Weow o @ dilepon g;i-tt>:\q3i5
Reflection line — |jal ower it 6 MRy oS AT
Regular polygon — polygom  (uih all sioles = r:‘w ald ¥5 = : _
Line symmetry — (on en objict Lo b Gololedd easto o _mgz,;-fvé‘f ondo HIedf,
Rotational symmetry — uhen &n o9pecs Cen L rOtzoRd e itseif. i
Order of rotation — hew watay) ~himeS an ePpecd— Lon ekt pade  JoLif
Degree of rotation— 4t . f {ﬁ"f«z“(je’\{ﬂ of Coehn (DITENN 30
ovteld

Tell what type of TRANSFORMATION is shown in each diagram;

1)
G T [ F b .
afic o] [Tl |
7 T4 il I o] [of L]
(¢ fachon "f\’mglmﬁ 2 rottch Mo
d e. i
| o] L] |
8| I L o] [ e
Atoh 4o Honslabur
True or False?

2} The pre-image is congruent to the image for any transformation. F:{} JESJQ,

3) If triangle XYZ is reflected over the x-axis, then point Y and Y’ are both the same distance from the x-axis.

4) If triangle XYZ is rotated about the origin, then point Y and Y’ are both the same distance from the

arigin._ )

perpendicular bisector of the segment formed. Al

5‘"‘5) In a reflection, if each image point is connected to its pre-image point, then the reflection line is the



Perform each transformation. (you may use patty paper); Give the ordered pairs of the pre-image and the
image; Then write the transformation RULE for #11-15.

10) (x,y) 2 (x+6,y-1) 11) Reflect over the x-axis 12) Rotate 90° clockwise about the origir
CARBEL |
.f; < _
c'— ;1' ' | .ﬁ s "
(.l H Fall . ﬂﬂ;ﬁ i w! .7 h H
BALCHEN T T EC L B ;
o L @Yy Yy
¢ |
o W E R s B 2 ., th =, b)
Hi-g =1} HL 4 ;=9 HE2 . t]) B iy )
Blogad) (Bl ) Eleg 143 'l ~%, )
F('\S" z'—g) F’( l , .-LI' ) FI(“'% ’ 5—3) F’( ,,3 ’ ‘5“)
Rule? (x,y) = ( )( ,-*j ) Rule? (xy) = { 'ﬂ,'X )
13) Ry—axis 14) TQ, oy 15) R1g0° clockwise
' AT 7 ANEEA
Faeasg 3
N S
=i s rf' ;i
H 14 Q¢ ’ H £
LN / w B A
2 = (‘1' r‘__' F- E b =
el et k=D c-y, 1) clf .t
H=g ) By -] H(c,w WL, | )
ELS o B ) Bl 0. ) B >, 3 )
i ke ke ; F{ & 50
F(-S.-3) (g ) F(~ 3 &) ( S )
Rule? (xy) > (=X , Lﬁ ) Rule? (x,y) = ( X?;,'«jrs Rule? (x,y) = ("-X,"fj)

Decide if each figure below has rotational symmetry, then, if YES, give the order and degree of rotation.

25) equilateral triangle 26) 27) 28) regular hexagon

i

|

\

|

: ‘ Circle@orNO CircleYESOt’@, Circ!e@orNO Circle@orNO
order 5 Order | Order H Order (g
|

|

Degree __{an” Degree - Degree __ 94’ Degree (o0
o 7
%0
3




' Dﬁecide if each figure L_Jelow has reflectional symmetry, then, if YES, draw alf lines of symmetry. -

31) 32)

Circle @J)r NO Circle YES O@ Circle YES O

/’\y
4 ’4 4 __,Z t.{) ___% A
33) Dilate AABC by a scale factor of % // = e A ( ' ”Jf
s b‘)" ~ E)(Lll 2
i —4/ HEAA S 14 1% .. ;
o )=
|~ .

—:;,‘ it i
c ' .f" A

34) Given the scale factor, tell whether each dilation is an enlargement or a reductlon,\
a) Scale factor =5 2, nlar%ﬁwu % 4 W

b) Scale factor = % LU AR
- c¢) Scale factor=-2 E,,"l,((?g‘(‘:.i,i,{vl\,é_f&
7 1 Lovi bt T

d) Scale factor = 5 (’lftLLCVE}JﬁAM‘ :
e) Scale factor = 2.3 (iv’bLé‘u'”EW.ut

35) What is the scéle factor of the dilations shown below?
"~ b) fromAtoB

) small is pre-image

s a reduction or

A -

5. ¥ r QCUA(;?XUW—* _
o B Z’@AM: 5 e\ Lk
s e 3
Bl




.

(J gl

14. Determine if the following scale factor would create an enlargement or reduction

: c.0.6

dm (:ymuf— ”f‘m‘fm

L N o
ey thy  ehognt
isometric figure

TRUE or FALSE: If the scale factor for a transformation is 1, then the transformation would create an

il

16. A dilation maps AQRS to AQ'R'S” OR =10 in. and Q'R' =12 in. If RS

= 12 in., what is R'S'?

e
12 (x=149.4F¢
a y f?._
coordinate of the image of 4?7

17. A dilation on a coordinate grid has center (0, 0) and scale factor 2.5. Point 4 is at (3, 7). What is the y-

2.5’(’7) :@

18. Given the point and its image, determine the scale factor

a. A(3,6) A’(4.5,9)

e\r’l'%;x\“"*ﬁ
9 b &1 6) G(1.5.3)
(1;5“ | /0 15_ {Tg- ﬂ_. :
7. el 0

' L@
‘ 3 ¥
19. Draw a dilation of the figure below with a scale factor of 2

o

a(1,0) el 08 e _ﬁ\?{f
Blz,- )~ B (4 2) %/ WAV
CL‘Z,Q‘"? C'L"‘l) D) e TEL Ty

e e R g o & “ i RN
20. Graph pentagon PENTA and its image Do s(PENTA) = P'E'N'T'A'. (HINT: This is a dilation with scale factor
0.5.) The vertices of PENTA are:

Plo) €3 N9 TOAPELY)
Z}




Geometry 21_- MORE PRACTICE WITH TRANSFORMATIONS Lies

1.

4.

(a) A point (x,y) reflected over the x-axis has the coordinates (_X_," g:).

(b) A point (x, y) reflected over the y-axis has the coordinates Qx, L.

(¢) A point (x, y) rotated 90° counterclockwise has the coordinates (_:%, )
(d) A point (x,y) rotated 90° clockwise has the coordinates ( 4,’_’_}9

(e) A point (x,y) rotated 180° counterclockwise has the coordinates L'_"_?(_, "_'j_).

(f) A point (x, y) rotated 180° clockwise has the coordinates (=X, — E!J ).

Reflect the triangle over the line y = -x. 3. Using coordinates »
g s i of your choice, graph
SR _ | triangle ABC and then
rotate it 90° clockwise.
Label all coordinates.

| Be sure to clearly "
ﬂ dlfferentlate th.e
7l ] preimage and image.

AN _
NN
M \gtﬁ B v

N

L 4

e

Apply the given rule to the pre-image to find the image. Then describe the transformation.

g

.j’;%{,\;} i) @,umj‘a’) q

x> (~(x=6),~(y+3)) (10, 8)

> (~(x+1),(p—~4 (8,1) ; gL
(x.y) ( {x+1),(» )) 52 ol e fle ke A grwe gj O §
S e 6, vp3 i

) Dkl 150°

Describe in words the transformation(s) that 6.  Write rules for the transformations that |,/
occurred here if AUVW is an image of ALMN. occurred here.
cnppeak £ .
! .
: 5
¥ i N i i i
| Dilah o : e
L {1 oi0 e 4 O a Lot oadiccfion
—TY : o oo FrifBN = bt
: : € 5432
¥ iy N
~ S NTAE




Pl Apply the given rule to the pre-image to find the image. Then tell what type of transformation it fs.

TYPE of. transformat,o R

xy)2(-xvy)

QJQ(J)W\ A7 \‘3%‘”5

(X :\/}')( X, -Y)

Redahin |§0°

(X JY)%( Y, 'X)

Koo 40" clockuie

(x,y)=2>(x+2,y—4)

Hreaslahon * 1 pignt L
drum 4

(x,y)=2(x vy +6)

Noaslahom vE b

by o{ =3,y

Henf\obom o4+ 3

(x,y)=2(3x, 3y)

o (x,y)2>(.5x, .5y)

UNIT 1 REVIEW:

1
(~s) +Lo

CRA R TN T erE ;
) lahw Stu:u? 3
o~
e e
Dilahon scale e
fucksi® 7
-7
10(+5)

22. /1 and ~2 arc complementary angles. mzl—x + 60 and m £2=10x + 55. Find x, m£1 and mZ2.

/’/5 hfw.

90

X HpO Ok +$3=490 ()( +5’X’<+5 7 O
ﬁs— +0yx + 2

XTHOx + 26 = O

23, 21 and 222 dorma ncar pa1r m<1=3x2+100 and m £2 =x*>+ 44. Findx, mZ1 and m~£2.

T B2 00+ yE+Y4Y =180

q(xz 4)= =0
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Name: \W \\/ S\/U?tl&} Date: Period_z Score:

o

Directions: State the type of transformation that would carry the pre-image onto it’s image,
(translation reflection, rotation or dilation) and write a function to describe the transformation.

=

1. Iy I ‘ ! 2. I ; 3 P.
A | //f
' . 1/
| ”
B !'\" E Oa’ Ta
~ A I 0
B /\
s \
2 <\._ \
I ‘\ o
‘ ! | - i !
Transformation: yaansacan Transformation: Y’{;i‘f'&h@m
Function: g Function: 4% 1%0 .0
3. N : | N: 4 j A
QT | : P
IAY
B S E N | |E
N
P,
N
E* P
Transformation: ?\Q/i/\ﬁuhff\\ Transformation: R Achon
- . . L s l_,_{-’ .\:q i
Function: ﬁl\ yoxs Funetion: ('\b p ())
N; A ___.-—--'"“'—_ 6. L .,\
$70 A
U
p £ B Xolz2)
iE -...___-__- ~d L¥ =
S 2
3’ //A _\\
E\ f\‘a ("?l “1“) E’
1T { ") !\
S
ME
| 1 > |
Transformation: Q@N&‘Tﬁ\/ Transformation: ’D)\{IUM}\(\J !
w1
i ) . ST YT (I L G
Function: Q \ Y00 S Function: b (*'bb > D L e
1 © 2014 LetsPracticeGeometry.com




Date: . Period: Score:

Name:
Using correct notation state the type of transformation that would carry the pre-

Directions: i
image onto it’s image and write a function to describe the transformation
7.[ ] 1 ! 8. [H ol | (
E ; S'J -
R T \ \\\
N . . \ _ H 0
N TN
( 3 E!
( LV{
= R
S
i |
Transformation: yoAS|oh oA

Transformation: A oo

Function: R‘b%’a (D Function: T<-7/ 3 7
3 i N ‘ ‘ 7 » A
\\ g Pl C]
" ) //
| B N\ el
'\\‘ .
1\ r
N I
) H
I 4 .
/ ;
T ]2 — |
2
| LS
) Transformation: R PlechHov—

Transformation: ’_\\/))\M o

Function: ( 2K, %u\\ Function: K - sl
. S/ b

11, e f 120 TG "*’/“"'i §
i
N ,\\\
S,
/TN E I
_ \ 37
. H
N | /pl | i P
\ . Transformation: |\ oy

Transformation: T\gnS\aboi—

Function: — / 7\ T @,{“ )
\

Function: 'D‘ (Sﬁ 3‘?}3
{
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ROTATIONAL and LINE SYMMETRY Name per___date_

—4 shape has rotational symmetry if it fits onto itself two or more times in one turn.
ne order of rotational symmetry is the number of times the shape fits onto itself in one turn.
The degree of rotational symmetry is the number of degrees of each turn. (360/order)

A 2D shape has a line of symmetry if the line divides the shape into two halves - one being
the mirror image of the other.

Write the order and degree of rotational symmetry under each shape & letter. Also draw dotted lines to

indicate lines of symmetry. _ . 1 /
S e B et R N
i / P e
- 74 .
S !,!" | \ sl
Order: { ‘oot (_{
; MR :
Degree\ a0 (D){C Ol !




Name Date

3. Graph the image of PQRS after the following transformations:
Translation (x, y) —(x-2, y-2)

Rotation 270° clockwise around the origin.

s

11U

e 8

\ P o

/9: - . £ 4

5 | o] 5 2
. —";' \b 3
AR 6D 4 2 . 4 6 8 10

=

e %

G )

7

N 2

q { %‘

“1#,.-—
DILATIONS:

The polygons are similar. Find the scale factor from the figure on the left to the figure on the rightin

each pair.
17} 15 2:]
10 5 _3
iy e
. 24 \m
L
i5
1 2 2 4 .
S e o
14 7 % 3
Ry ~
], i S A
10 \—L ‘“—"\ e\ 5
?

r‘\_\
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